RIE2 (B Rucksack.java) (2) MFEFwvTR (PotatoChip) =D, UawvDFwv2 (Rucksack) [CAN,

COMEIR, RT +Fw TR (PotatoChip) ZANSNSD'J 2w w D (Rucksack) Javy DTy ODRICA>TNBNRT ~Fw TR (PotatoChip) DffiigNEE %=
DSREERLET, (1) ~ (2) OFIBICUEA>TIATSLAEERLUEE), KHIDTOTS A (B201102java) [CDNT, EFFEDI[CE> TNBIHER

WLET. DFVD, FEedB201 102java ZAB, IV/INAIL, RITULET.

public class B201102{

public static void main(String[] args){
. Rucksack rucksack = new Rucksack();
rucksack.add(new PotatoChip(128));
rucksack.add(new PotatoChip(128));
rucksack.printItems(;

System.out.println("&Ft " + rucksack.getSum( +" [");
Uy o9y :

(1) JavPYwD (Rucksack) DI SABMEAP | {1#%H5S Rucksackjava Z1E

B LIS,

¥ ArraylList ZBR I BEHICIE import  java.util.Arraylist : HDIMETY,

(E17HD
Rucksack APT 14§  Rucksack > java B201102

arrayList:ArrayList<PotatoChip> = Rucksack IANT I HTT. NTFEFY IR 128 M

new ArrayList<PotatoChip> () add RFLVF o T 2% 2y NTFEFY IR 128 M
Rucksack () Iy ZIZANET. &5t 266 H
add (potatoChip: PotatoChip): void getSum Vay 7+ 700K
getSum() © int T Ny T RO OE
printItems(): void FHEEALET.

printItems Vay 7%y 7 OhoOR

T hF v T AD L i
fa—BERLET
(ATl : RT v F o7
AMW2DOAN>TWNDY
&)

A7 hFv7R 128 1
A7 hFv7R 128 1




